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According to Piaget construction of higher knowledge is the
process of absorbing new knowledge with already existing
knowledge is

1. Accommodation
2. Assimilation

3 Equilibrium

4. Schema
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“Adolescence stage is the period of stress, strain, storm and
strife” is defined by
1. Kohlan

2. Stanley Hall
3. Sigmund Freud
4. Galton
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The concept of ‘Figure-Ground relationship’ was

explained by

1. Gessel

2. Hegel

3. Rubin

4. Kohlberg
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1. Language Accept Device

2 Language Acquisition Device
3. Learner Aid Device
4

Learner Acquired Device

According to Piaget’s cognitive development, the concept of
‘object stability’ is seen in the following stage
Pre — operational stage

1.

2. Sensory motor stage

3. Concrete operational stage

4. Formal operational stage

DATE VOIS S ISR SRy PO 2SS’
@ OEE0 DOV

1. J°T (Dol ¥

2 300 TrO¥ &

3. oy (DTPOE $F

4 @305 (DT &F



“Survey” is used as a tool in this method
Historical

1.

2. Correlation

3. Descriptive

4. Action Research
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The scientist who first proposed ‘Intelligence Quotient’ is

l. Binet

2. Stanford

3. Ebbinghaus

4. Stern
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“Joyful learning” supports the following law of learning
Law of Exercise

Law of Effect

Law of Readiness

b=

Law of Reinforcement
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The scientist who described the stages of the creative process
l. Hutchinson

2. Wallas
3. Medwick
4. Chaplin
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10.

11.

According to ‘Juvenile justice care and protection Act’ the age
to be considered as a child shall be
1. below 12 years

2. below 14 years

3. below 16 years

4. below 18 years
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‘Berkeley study on development of Children’ is
1. Longitudinal study

Cross sectional study

Rotational study

Call

One group study
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Which of the following is not a school factor that affects

learning

1. Financial status
2. Library

3. Administration
4. Human resources
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The first lab for the study of Psychology was established by
1. Wilhelm Wundt

2 William James

3. Jung

4 Raymond. B. Cattel
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Author of the book ‘Man’s search for meaning’

1.
2.
3.
4,

Thorndike
Skinner
Bruner

Victor Frankil

‘Man’s search for meaning’ (X0& &wSo¢s
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One the following learning theory, that supports
‘programmed learning’

1
2
3.
4

Operant conditioning Theory
Classical conditioning Theory
Trial & error Theory
Insightful Learning Theory
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17.

Padmaja got a promotion but had to go a far away place. The

conflict here is

1.
2.
3.
4.

Approach - Approach
Avoidance - Avoidance
Dual Approach - Avoidance
Approach - Avoidance
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The term ‘Schizo’ belongs to

1
2
3.
4

Latin
French

Chinese

Greek
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20.

One of the following is not a primary need

l. Water

2. Sleep

3. Education

4. Food
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According to Ebbinghaus the rate of forgetting after 20 minutes
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47%
78%
72%
25%

“Self - Learning” concept is related to

l.

2
3.
4
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1
2
3.
4

Pavlov
Kirk
Brown

Skinner
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21.

22.

Founder of child social development

1. Mother

2. Father

3. Teacher

4. Friend
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It is not a character of learning

1.
2.
3.
4.

Learning is a continuous process
Learning is dynamic
Learning is goal oriented

Learning is a passive process
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Assessment of learning will be displayed in the form of

1. Oral explanations
2. activities
3. parent meetings

4. Marks and Grades
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Variable that does not belong to experimental method

1. Single variable

2. Independent variable

3. Dependent variable

4. Intervening variable
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26.

A learner exhibiting difficulty in recognizing numbers
may have
1. Dyscalculia

2. Dysgraphia
3. Agraphia
4. Disphasia
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1. Continuous Comprehensive Education
2 Continuous Comprehensive Evaluation
3. Child Centric Education

4 Child Centric Evaluation
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28.

The following is not required for getting ‘Ammavodi scheme’

l.

2
3.
4

That family should have white ration card
Should have Aadhar card
The student should belong to classes 1 to 12

Must be a private school student
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One of the following is not a virus

1.
2.
3.
4.

Time bomb
Rubrics
Trojan Horses

File destroyer
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30.

In Andhra Pradesh Nadu - Nedu programme was launched on
1.

2. 14™ November, 2019

3. 15™ August, 2019

4. 26" January, 2019
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Expand MOOC

2" October, 2019
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Master Online Open Courses
Massive Online Open Courses
Massive Open Online Courses

Master Open Online Courses
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Telugu
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61.

62.

63.

64.

English

Linguistics a difficult subject.
Choose the correct verb that fits the blank.

l.

2
3.
4

1S
arc
WwCEre

have

The film wasn’t very good,

Choose the correct question tag.

1.
2.
3.
4,

was it?
1s it?
isn’t it?

didn’t the film?

He felt that punishment was not enough.

In the above sentence the word. ‘that’ is

1. an adjective

2. a conjunction

3. a pronoun

4. an interjection

Justas 1 into the bath, the fire alarm went off.

Choose the correct tense form to fill in the blank.

1.
2.
3.

have been getting
have had
was getting

got



65.

66.

67.

68.

Choose the sentence that has a verb of movement.

1.
2.
3.
4.

She read a novel slowly.
She entered running .
She slept well.

She informed me about her wedding.

Choose the sentence in simple present.

1.
2
3.
4

Choose the model verb that can’t be used to express necessity.

I do not did the work.
I did not do the work.
I do not does the work.

I do not do the work.

1. had better

2 should

3. must

4 would

The train passed the tunnel.

Choose the word that fits the blank.

1.

2
3.
4

below
between
through

onto



69.

70.

71.

72.

She was unhappy and she was upset. This is

1. a simple sentence

2. a compound sentence

3. a sentence in passive voice

4. a simple present sentence

Gita was dancing Sita was singing.

Choose the word that links the two ideas.

1. nevertheless
2. as if

3. SO as

4. while

Choose the complex sentence from the following.
1. One of my friends is very rich.

2 We are friends.

3. Gopal and Ravi are brothers.

4

The shops were closed because there was a strike.

He smiled at the beggar.

Choose the passive voice of this sentence.
1. The beggar was smiled at by him.
2 He was smiled by the beggar.

3. The beggar smiled by him.

4 The beggar was smiled by him.



73.

74.

75.

76.

Choose the synonym of the underlined word.

Dr. Kotnis played a major role in controlling a virulent

strain of plague.

1.
2.
3.
4,

benevolent
non - toxic
safe

dangerous

Choose the antonym of the word underlined.

She began to scold her neighbor.

1.
2.
3.
4.

criticise
blame
praise

reproach

He decided to give away everything he possessed.

Choose the meaning of the phrasal verb ‘give away’.

1. to distribute freely

2. to turn into

3. to remove

4. to stop doing

I listen to radio a lot.

Choose the correct article that fits the blank.

1.
2.
3.

the
an
a

No article is required



77.

78.

79.

80.

1.

Choose the correct order of adjectives to complete the sentence.

I bought umbrella.

1 red a beautiful
2 a red beautiful
3. a beautiful red
4 beautiful a red

Choose the punctuation mark used to denote possessive case.
1. Full stop (.)

2. Apostrophe ()

3. Quotation (*“...”)

4. Semicolon (;)

The following is not a part of the letter to a friend.

1. Subscription
2. Heading

3. Salutation

4. Subject

Choose the silent letter in the word ‘mobile’.

1. 0
2. e
3. 1
4. m

Choose the misspelt word from the following.
1. character

2 audience
3. determin
4

trespassers
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83.

&4.

Choose the word that does not have a suffix.

1. stronger
2. tireless
3. victory
4. happen

Read the following passage.
The use of homework is effective when used by the rule “less is
more”. Overwhelming kids with loads of homework can cause

them stress and possible physical injury.

“Less is more” in the passage means

1 More homework leads to more learning.

2 If the homework is less, it will be more beneficial.
3. Less homework causes more problems.
4

More homework reduces health problems.

Read the following passage.
The use of homework is effective when used by the rule “less is
more”. Overwhelming kids with loads of homework can cause

them stress and possible physical injury.

Choose the TRUE statement.

1. Less homework has no effect on learning.

2 Less homework leads to stress and physical injury.

3. Too much homework has adverse effects on learning.

4 Too much homework improves the mental health of kids.
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88.

In India, the English Language was introduced in the
1. 16" century
2. 14™ century
3. 20™ century
4. 19" century

The following does not come under types of listening.

1. Active listening

2 Intensive listening

3. Listening to communicate
4 Listening for sleeping

The following is a receptive skill.
1 Producing
2 Writing

3. Reading

4 Speaking

The discourse that has thyme scheme is

1. drama

2 description
3. poem

4 notice
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Choose the strangest of the so-called ‘humanistic approaches’.
1.
2.
3.
4.

“Prose is words in their best order”. This opinion

Suggestopedia
Collaborative approach
Natural approach

Behaviourist approach

was expressed by

l.

2.
3.
4

V.J. Cook
Colridge
B.F. Skinner
Mc Donald



Mathematics

1 kilometer=__ millimeters
1380 = ddexty
1 100000

2. 1000000

3. 10000

4 1000

Multiplicative identity in integers
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94.

95.

1
The rational number between 5 and % is
1 1
8od F3S° 5 50835 3 © 3¢5 E0T 5505 0Py

1. —

12
2 =
12
3. 2
12
s =
12

The length of a rectangle is 14 cm. If the perimeter of rectangle
is 3 times more than to its length, then the area in cm” is

2.5 égpeﬁw@o FED 14 0., TR $oenFe PEIH
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l. 96
2. 49
3. 98
4. 196

To convert paise into rupees we divide it by

1 10
2. 100
3 1000

1
100



Which error occurs when measuring the line segment by ruler

1. Minor error

2. Major error

3. Parallax error

4. Instrumental error
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The fourth proportional to 15, 25, 45 is
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1 55
2 75
3. 65
4 85
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101.

If ‘r’ 1s radiusof acircle then the circumference of a half circle is
eadaﬁo)eﬁ 080868 (s"ag?ﬁdo ‘r’)
7= © &

Wb =

27r

T
2r

2r + mr

Cube of 6 and 7 respectively
6 DOAW 7 © I SEIM

1
2.
3.
4

216, 343
261, 343
216, 334
261,433

The expenditure for 6 people in 15 days is Rs. 12,780. The
expenditure in same manner for 4 people in 21 days (in Rs.)
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1
2.
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11,298
11,928
11,289
19,128
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103.

The following is not a linear equation
808 AS° BHa%H ¥WESE0 5°IG

1. 4x+6=28
2 4x -5y =9
3. 5% + 6xy— 4y* = 10
4 3x-9y =5
Solve 2x—3=—_2
3x+2 3
2x— -2
Y73 72 S
3x+2 3
1 x—ﬂ
12
2 x=1—5
12
3 x—i
12
I



104. 9 and 16 numbers together are called

105.

1. twin primes

2. relative primes
3. perfect primes
4. primes

9 308a5» 16 60335053 EONS es éozpsen

1 530 (PE°IP05°en
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3. G Dopgen

4. (PEeIPosTen

The mixed recurring decimal 15 732 in £ form is
q
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q

. 15575
' 990

1555
990

3 15575
' 9990

15575

9000
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One T.V. was purchased for Rs. 21000 after one year its price
is 5% decreased. Now its cost in rupees

2.8 8.9, J &r. 21,000 9% ?5963. 2.8 éo:ééa‘)éo SIS
TR eI 5% SASB. G B.D. 8 ErraHS,

1 17,950
2. 20,950
3. 19,950
4 18,950

If the angles of a triangle are 4x°, 11x°, 21x°, then x° =
2.5 (Q50208° Seroen 4x°, 11x°, 21x°, @008 x° =

1 5°
2. 10°
3. 15°
4 12°

The population of a village is 4000. Each person in the village
required 150 liters of water every day. If the water tank
measurements are 20m, 15m, 6m then for how many days the
tank full of water is sufficient.

28 ([P0 a3 4000, (5 5583 %28 150 deog At
©SVT0. IS Erg0%H Foo¥), Foden 202, 15., 6.
28 &350 DY) DOV Sere Hows

7

1

2. 5
3. 9
4 3



109. Sravya purchased a clock for Rs. 480 and sold to Ramya for
1
at 61 % profit and Ramya sold to Divya at 10% profit.
How much did Divya pay for it

1
(@55 &8 KESTo . 480 & oY 6% erggos”

685J§§J eaib&o&. 6;535 A 10% o’ &;5§§3 @333&0&.
9008 B35 o IYowrd.

1 510
2. 551
3. 561
4 541

110. The difference between upper limit and lower limit is called as
of that class

1. length of the class

2. upper bound

3. lower bound

4. average

28 SEKE Bn¥) MNOST, HIOS TR BES0DH & SEKS
BE). _ woerd.

1L S5KD FES

KOS B0
Q

BK>S B
Q

L

lopste]



111.

112.

113.

In two concentric circles outer radius is R and inner radius is »
then area of the circular path

Boc NEZo(EE $)Te 2050 $)F Frgo R, §9O
NG FGILO 1 @aS IS eréy JTO0

1. 21 (R+1) (R-T1)
2. 7 (R+r) (R—-1)
3. nr’

4. 2nR’

What should be added to 1+2x—3x to get x*—x—1 is
X—x—1 ot 142x-3x" K Joes SoFd

1 3% +4x +3
2. 3 H2x+1
3. 4x°+2x+4
4 4x* = 3x -2

To draw a trapezium, the number of measurements required
2.5 (B2 Achue® TI0dS Fode Sowg

1 2
2. 3
3. 4
4 5



114. When a transversal intersects a pair of parallel lines then the
sum of interior angles of one side of the transversal are

l. Perpendiculars
2. Complementary
3. Supplementary
4. 360°

2.8 23¢5 DSOS VPO @655'533 POGODTY)E 53603&(‘6
@dggﬁaﬁo 2.8 IS Ko oS8 eTen

1. 02T

2. ORIV

3. LDOIPE oD
4. 360°



115.

116.

Maths Methodology

Previous knowledge + Present experiences — New knowledge

1. Content analysis
2. Skill formation
3. Knowledge construction

4. Teaching Strategy
LSO + (DS @DYIT 0 — SIS 2PI0
1. é’)ﬁoﬁoé’)gﬁs'a

2. Sewge fbcz)ep
3. 2° 30’"&8’30

=g
4, Sse Jrgro

This method also called informative method
1. Solution method
2. Conclusion method

3. Analytical method
4. Synthetic method
BV BIPTOEYE DED @ S35 @otThd

L 5030 5650
‘5355353%‘5 polals
[on]
TR DS
(qp] [on]

L

D0BAE DS
™ (o]



117.

118.

One of the following is not related to project method
1. Herzen Hon

2. Armstrong

3. Kilpatrik

4. Stevenson

3007°08" [BY HEBE ToSATE

L TES S
2. b AToR
3. &S>&E
4. IS

‘Self unfolding’ is a part of
Project method
Heuristic method

Kindergarten method

e -

. Demonstration method
A$H0 SIS0 BAS® a0

L

.|_\

DB $58
[

[eo]

@303::\93 DS

@

20&6m38 9858
e (en}

- W N

(BEENS 55O



119. In ELPS — ‘E’ means

1. Experience
2. Exercise

3. Execution
4. Estimation

ELPS &° ‘E’ @058 35058

1. £9:3083:50
2. eae;t’géo
3. fOCfsﬁvsa
4. OWI°

120. ‘Reflective Teaching’ concept was introduced by
1. Y. K. Singh
2. Komisar
3. Donald Schon
4. John Smith
BENOSTTOS FES’ (FIFHLEIO

1. 3. 3. d0R
2 WS

3. é"me@f 3‘05
4 wS?o&S



EVS

121.  An example for Natural Scavenger

1 Frog

2 Crane
3. Crow
4 Duck

BOees if°6§>c‘,5§ S"@&§)QJ§ Yo rletan)

1. §Z>°)
2. §°oK
3. 508
4. 2o

122. Hinge joint is seen in this part of the body

1. Elbow

2. Skull

3. Shoulder

4. Backbone

Soes200e Sev ¥9203 ¥B8erKo
1. IP[ow

2.

3. ACENGY

4. 33&35&%



123.

124.

Migrating birds fly in a V-formation to avoid

1. Dehydration

2. Loosing their energy

3. Loosing their direction

4. Loosing from the flock

BAY ATV Sod DPHeo V-es57508° D)6
(Wasedron.

L &rE@as

2. ¥ S ow soten

3. QX EV)PHOG® &0t

4. X509 5008 SVPHOE GOEED

Hump of the camel stores

1.
2.
3.
4.

Proteins
Water
Fat

Glucose

2,083 FrPToS” BV Jeg Tx08.

1.

L

&ds
et
?@5
Kr§°S



125.

126.

“Tikka Disease” in groundnut is caused by
1 Bacteria

2 Virus

3. Protozoa

4. Fungi

IHISKS® “B357). Brvren” KBS

1L arfocsr
2. 35

3. (@SS
4.  8doso

Cuscuta absorbs food through

1. Sieve tubes
2 Roots
3. Rhizoids
4, Haustoria
S0 & 5380 A YT DEBRROB.
1. TOD Tegeen
2. 35
(qp]
3. st“onc%
4. ﬁ@@oﬁrw



127. The Bowman’s Capsule and Glomerulus together called
1. Renal tubule
2. Pelvis
3. Loop of Henle
4. Malpighian Capsule
TR K9, FERITOT HT O 5O go° oL,

1. ;50)§2r J°PE
\&3°83
':;so‘fg 8550

L

;Sre%a%ﬁos Ko9%

128. Sound cannot propagate through

1. Air

2. Metal

3. Water
4. Vacuum

B30 B 1ose (30808

1. o)
2. S50
3. DH

4. %5"3650



129. The image of the object formed in a rear view mirror used in

130.

vehicle is

1. Enlarged

2. Diminished

3. No change in size

4.

Inverted

TIPS EIRTA0D 8SHE I WEBES® 5299 (Do
3o 508,

1.
2.
3.
4.

DS
Q
{’J:@&m
¥85e308° S8 &OG
So(doenr

Chemical name of Lime water is

1
2.
3.
4

Magnesium Hydroxide
Sodium Hydroxide
Ammonium Hydroxide

Calcium Hydroxide

RO K BJa5rS T°S500

1.

e N

Djhacwo TEEE
Fé&awo TEFE
&30 TEFE
a0 TEEE



131.

132.

The fort which is considered as gateway to Dakshina Kasi

l.

2.
3.
4

Siddavatam Fort
Chandragiri Fort
Bobbili Fort
Kondapalli Fort

s S0 $§en 5788 (D0°S oryBonT ardRRD

1.

L

RESe0 8%
SO(EGSAB &%
ARANIREN

§oEsd &

The tenure of the Sarpanch is

l. 4 years

2. 6 years

3. 5 years

4. 3 years
RBYOD HEITO

1. 4 JoIB\0°en
2. 6 DOISB\T°e
3. 5 D038 oen
4.

3 bo;ﬁé&mm



133.

134.

Social Studies

The following raw material used in the production of ceramic

goods
1.

Call

Barytes
Asbestos
Chromium

Feldspar

20T 5o BSOS’ BAY S0EVHH EIRTAID.

1.

L

TS

ST
Saeate
ERERE

A New National Mineral Policy was announced in the year

§E B0 pla IR (PSS VoSS0

1
2.
3.
4

1991
1992
1993
1997



135. Belum Caves are located in
1. Vijayawada
2. Kurnool
3. Ananthapuram
4. Chittoor
Bero KoSPe0 &0 (FPoto

1. WOV
2. §d§;}@>

3. IS0LYHTO
4. AL b)let)

136. The Harappan Civilisation was flourished in
1. 2,500 - 1700 B.C.
2. 1000 — 1500 B.C.
3. 3,700 — 2,500 B.C.
4. 10,000 B.C.
B HBES IFDOVS S°00

L &9 2,500 - 1700
(&3, 1000 -1500
(&3, 3,700 - 2,500

- Al

(&3, 10,000



137. Kakitiya rulers had imposed tax on flock which was called

138.

1. IMlari

2. Pullari

3. Addapattu Sunkam

4. Trade Tax

SPESADH HBFOHe FBo 5008 IHONS DY) / 20¥o

1. 300

2 Do
™

3 €955E oo
Co 6]

4 ms%w§ ‘J)Aia

Gangadevi, wife of Kumarakampana authored the famous work
of

1. Vasu Charitra

2. Pandu Ranga Mahatyam

3. Madura Vijayam

4. Sakalaneethi Sara Sangamam

DHITE OB eP§ KOmBI TS (HVE TSI
1. S0 |

ToEBON S50

SOEOBIBAI0

L

VEODH DT DoKSHo



139. The “Brihadeshwara Temple” located at

1. Thanjavur
2. Ellora

3. Kanchi

4. Hampi

zag:ré%osé 3000 §8) & SO

1. 502300
2 5o
™
3 so0
4 5°0

140. A dance form performed in Rajdarbar of Tamilanadu,
exclusively in South India is

1. Gussadi
2. Sadir

3. Dhimsa
4. Kuravanji

58ed rOSBFS® @égéo{’) ST mwdogdaéﬁ
@658903 S50

1. ?bbj\)&
2. 268
3. o

=~

5502



141.

142.

The percentage of female literacy rate in Andhra Pradesh in
2011

2011 §° eso|GSHBTS® () SEORGS TS0
1 56%
2 55%
3. 57%
4 65%

The first person to receive land in the “Bhoodan Movement”
was

1 Vedire Ramachandra Reddy

2. Visnur Deshmukh

3. Maisaiah

4. Venkatagiri Raju

P STeg08" G SO FoBS e 53

1. 36T oroToTB
75 B50f
Fo0Ahg

L

R08LAD orer



143.

144.

The title of “Bammera Pothana” was

1.
2.
3.
4.

Padakavithapitamaha
Sahajakavi
Vikatakavi

Andhra Tilak

2333&6 B85 DB

1.

L

DEEISRSCI T
POSLES)

QLT

es0|$S B

“Gurugrandh Saheb” is related to this Religion

1.
2.
3.

4,

Hinduism
Jainism
Buddhism
Sikhism

“RoHHoE F” Bs @IS H02080DSH

1.

L

FopteYab Nt To)
ZI0EB0o
3°E50¢50

Q
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145.

146.

Steps in scientific method are proposed by

l.

2.
3.
4

Carl Pearson
John Dewey
West Wood
Robert Hill

PRAD HEBE ¥ BOHELIY

1.

2
3.
4

s°§ 33050635_
) E5000
3 &6
U°2a§ S

The following is not the benefit of “Essay Type” Questions.

1.
2.
3.

Questions are very limited and easy to prepare them
Students will have a freedom to express

The result will be the same whoever and whenever they
evaluate the paper

The errors in grammar, language, spelling etc., can be
evaluated

808 TAS® “TRgETD” (PP HETES0 TS

1.

BHeo Trer Doiront, T3 SASTETA0E0
QOO GOELNOH

=S,
TGRS 2T ;5§§§C583 () 0008
SeRg0EH0 IS, IY)E DA &8 $OB0 S0

DAAITOS0 5§§§aosc§o§5 T§SGes Sres,
oear S, eagéﬁsiven Serg0EI0 BHE
De5HeHod



147. One of the following is not the value of Science

1. Intellectual value
2. Utilitarian value
3. Economical value

4. Cultural value
308 AS” ST IS A

1. 23“’@§ RISOIN
EIRPAESI® eI
€308 e

(&)

e N

@oé@e‘% dess

148. A method used to teach history is
1. Story telling method
2. Simulation method
3. Hypothesis method
4. Problem Solving method
SOB> F'ROSEIY GIBPAOT DL

1. Eo° 55 ‘ég@

?oaﬁoaagéﬁg

255§Q>°)5 DEH
[on]

- W N
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149.

150.

The number of Stages in Edgar Dale’s cone of experience
A6 TE wSws oSV Fro oy

1 11
2. 12
3. 14
4 15

Student classifies the Central Government and State
Government Services. The academic standard to be achieved
through this

1. Information Skills and Project Works

2. Conceptual Understanding

3. Appreciation

4. Questioning - Making Hypothesis

ayye) “Sols (DZ0E, Tl (DFSS NSOB ;5;5\§6©_‘;c‘£3”
B oo FHOT ITRYDITe0

1. DIrIE FyeTgen - (TEE Doen

2. JAAITS TS
3. (@F0D
4. ([9BoSEo - HBE)Sen BaEo
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